{géi%ﬂﬂmﬁittﬁ$& - = ¥ & F L (%) — FHENMEBHE
B DIRR g REE
,—‘? Y [—1 —_ 4 ﬁE ?

SEMMCR SR S b (BB 2 ) 2’% ERREFTFLE| (%) B5y (B FH. %) EDRR
EEHFRFLER (15.00(20.00)) | & THEREDEE (R EEREZELR (1) 611,173 2)DNER REEE (4T, %)
EHEEGFRFEEE [20.00(30.00)] 4; REARALE (%) 4.5 NECLBOMEICKETIERDOLNZBESE (2) 82,506 | Z/KEEE 0
EENMEBLE (2500350)) |7 | —HNEHHEE %wﬁ__u—immao)%‘g R EE 0
HEEEEE (350.0] RS E ) 241 IZRETEEHONIHEBEXITEES ®) 45810 KEEZE 82506

S EHEEAAICESCIHOSLAERICETILD (4) 11,067
REFFILE s [BEEEOE ) 9120 QOAR | ABBwaaw
X 4 SRERE (B . %) F |IKEEREFICRLIEENBREEE (6) 448,786 ;Eimfgg;ﬁﬂﬁ;i: 1?22
= T & A B0 g EXBERTICLYREMBBESHCEASNE-AMEE (7) 84,145\ o s 20271
¥ . f& E  E (B 0 o I e
$ TR B0) 5 BEBECLYREHBREHECEASN-TAESS (8) 32,567
, #£ B B H & D 4,403,747 IMEE ((1D)~(4) — ((5)~(8)) (A) 175929] (WDHER SRELEE 4t T, %)
%E%Etti((m(aﬁ(c)) /(D) = PN A BURE (9) 4403747|EEEX8iES 0
. 5 . = (6)~(8)DXE (10) 565,498 |1t 1@ ENHEEIE 11,067
RN e = MEH9)—(10) (B) 3,838,249 Z D th 0
e EE (B EHBH NEFE HE E A/B) X 100 4.58357
k2 REER (BT T, %) 3HFET1 (4.66547 + 4.33500 + 4.58357)/ 3 45
—|= R& = & (1) 150,205 4 = 4
e L EE T R0 10.494 RRAELE
= |3 @ &) (8 T, %) EDAER
B | F (5) | SHcEER—RESHEFOAERES (1) 7,162,328 [IYER SRETEE (s T, %)
)y} o’g EREEERFINEE 6) 38,507 *k |[BEABRATAICEID(IHTESRE (2) RN EEEES=EEES 0
Xt BREER IS O 85,429 8 [NECEBRZEOTHES KT IBARRAE () 827,744 |t £BUE NGRS 31,110
# |RESHEEREISE 8) 446 18 [{aZomFEOTHIEE RS AAERIAE (4) 268,197|F Mt 0
2 9) B [EBFURMBTTROSLEERAE () 1,141,609
5t (10) SHTEERTLSAGEEESHES (6) 2214573
BElExlK B2 F F £ FHAan 696,023 —|BEDHEAR AL (7 165,013 B)DMAER SREEE (g T, %)
$ ] (12) EBRHEESZICRAIALMBEEEEARAE B) 6,124,987/ KEE£45t 827,744
= | A (13) INET (R B EEE— ((6)~(8))) (A) 926,415 | £t BB £ SRS 0
% ’% (14) BREMBURIE (9) 4,403,747
X (15) e
g ’3%: % i‘mﬁﬁk% % !F:Tl-f %II %E‘[‘ (16) 34,082 — 'TEIE%%F‘ 1‘?‘6%—%%&?5%%@ (10) 448,786 (4)0)|7\]§R fiﬁgﬁ(ﬁfﬁ:?-ljl%)
: (17) — _ ; R e BB LA 131,373
% }% D REBRECLYEEHBEEHICEASAE-AMEE (12) 84,145 e e
k- gg; EERTEI LR EHEBEEECFAShETREES (14) 32,567
E‘f %ﬁi‘f%ﬁﬁ(m%zo)@;ﬂ D) 0 INET R ERBURIE() —FAXMEEZ(0) ~(5) (B) 3,838,249
, # & B 4,403,747 B Xk & 3 H F (A/B) X 100 24.1
EF%E% —T—=tt§(A)/(B) X 100 = GE)EREERTEIL. ETHRHATEFTD-HM0), EERTHE, EREERATHERVESTRHEL, [— IXR,




